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3 (sin 30) x—y+z=2
3 (cos 20) x+4y+3z=3

Question: 6x+7y+7z=9
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Topic: Mathematics-Section A
Item No: 6
Question
D: 100006
Question
Type: MCQ
e . 3_ ) 2 _ 80 3 . . . i . .
Question: | J@=(%—2x+7) e(Br”—12x"=180x+31) grejrm amiys@ [—3, 0] ererm @ enL_Geuafudled
fanLs@b safl WBUEL® iy f(o) erefle,
A: o= []
B: o= — 3
C: ae(—1,0)
D: d&(—=3; =1]
Topic: Mathematics-Section A
Item No: 7
Question
D: 100007
Question
Type: MCQ
y(x)=ax3+bx2+cx+5 eTarn cUeNETEUEM X -HNFMF P(—2, 0) ererm Lareflude
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1+[x] —x [x] @7 evL erarfled
10
@uQumLpg o f f(x) cos mx dx eremm Ggmenguder wHIL] :
-10
A: 4




B: 2
C:
D: 0
Topic: Mathematics-Section A
Item No: 10
Question
D: 100010
Question
Type: MCQ
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Question: | (x—y?)dx+y(Gx+y?)dy =0 et cuamnsELaLp Fwerur iy QuTgs ey
A (y*+2)*=C|(y* +2x)?|
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smle|, geaammeil dlawrs 2 dar @@m Car® A4, 3) ererp YeTall eulflGuw
Ogeveugraeyd x—y—2=0 erern CamlenL B ererm Leraflufer Geul (Heugmse]bd

Question: ) ) o ) ) . V29 ) ) . .
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A: 2x+y=9

B: 3x—-2y=7

C: x+2y=6

D: 2x—-3y=3
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Lot o 2 LD ) M) LD z_¥Y_=z creorm Camrhismer o dareTL&dlw FerdHdlHE
2 3 B 3 7 8
Question: _ . x-3 _y+4_z-7 . , . .
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Question: (S1) : (; X 1_:;) + (E} x 1_3>)| — |E>| = 6(2\/5 — 1)
1| (2
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A: (S1) woHmILd (S2) @F&T(Hd 2 arenLd
B: (S1) L (P 2 _eTenLD
C: (S2) L_(HiD 2 _erenLn
D: (S1) wHmid (S2) @rarhin Clum
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Question | 490016
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ID:
Question
Type: S
Question: |cos. x| =s:in X GTED FLETUM IgDE —4m < x < 47 eTameurm) Sienyb Sieysaflen
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A: 4
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C: 8
D: 12
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@ oL wrer enwgrarsder PQ ererm Camypbd g Q eTermeumm 2 6Terg).
R ererp Yatefl Camyrdens QR=15 15 erammeurmy @@ u@dserns GfsHng.

Question: | ewgTaGH 2 arer Lerafl A -ulell(mBg R -dsmen ghmé&Camanmd 60° 2 &Hab
wHMID PR erarm LGS A -0 15° Caransmsd 2 (HheumsEGeuSTHE D 2 6Terg).
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A 5(24/3 +3) 1B

B 5(v3 +3) 1

c: 10(v3 +1) b

D 10(243 +1) 18
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Question: SESMTL FadmiFated erg G @D ?
A (~p) va)=p

B: p=(~p)vq)

c: (~p)va)=4q

D: q=((~p) v
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Que§tion Numeric Answer
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B
25+ L2005y cranLigenr ellfleurgssdler t @ bdumng o milYer
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Question: . .. . N . . I 1 1 &k .
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erenmeumm R -6 euenqumissitlumib sy f aseen Laraflsafles suamasiL(hiss
(PIg WD GTEITE SHITCHS

Topic: Mathematics-Section B

Iltem No: 27

Question ID: 100027

Question Type: | Numeric Answer




(n+ 1)1
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X2 +12 -2+ 2fy +1=0 ereiin eul L gHlerr @(m 6L rugaflen wearLim(haer 2px—y=1
Question: | LOHMID 2x + py =4p GD. @QbS eul L 1b enwwid eufGw Gledebd 3x*—1y?=3 e
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x—-2 _ y—-1_z ., . x—-3 _y-5_2z-1 ; ;
o =Sy =7 uwbowbd > 5 > carm  Car(hsErsE
Qe Cuuydrer WaFdldlwu Car®m P : ax—y—z=0,(a > 0) erarm Far$CHT(H
Question:
cos_l[ 22—7} crarm Camenrsens o (Heumsd@Smgl. (1,1, —5) erenm Leretludler P erevrm
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Topic: Physics-Section A
Item No: 31
Question
D: 100031
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Type: MCQ
q 2 had [P], uriy [A] Crrb [T] pdlweunenm i lILIENL. ETSETTES &(HSHlETe)
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urdlwie erewrentimamer Liflomenr eumiiuim( :
A: [P A~1T9
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Topic: Physics-Section A
Item No: 32
Question
D: 100032
Question
Type: MCQ
Question: | YlemeumLd @uIHGwe 2jere|satley ereneu Gy LiflbTawTRIGameT ClsTeuT(heTeTe.
. - - . L - - % . - . - - . -
A: WlenGeormL @ Liuwirds CleudL i (D) LHMID UL WL L L&
B: QLuGuwrds WlenGermlL b HmID LOl6TLeLd
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Item No: |33

Question

D: 100033

Question

Type: MCQ
@meulm ULFSle sriLiiul (Bererg Gumed A wlled@mbg B &@ eul Ll LTesuile
Qui@Sprr. eurred Lwenrliul L Ggreneey 60 m erefe @)L Li6lLiwirdsludler
GreuTLogLIL m Gsrprwurs. (srey, cos135°= —0.7)

Question: e ‘\

> A

A: 42 m

B: 47 m

C: 19 m

D: 40 m

Topic: Physics-Section A

Item No: 34

Question

D: 100034

Question

Type: MCQ
0.5 kg BHlenpOlaramL em Gurmear CrrCsrl(Hil urenguilédy v=3x2+4 m/s. erayid

Question: | FlenaCoussgiLar @wni@dng. x=0 eOl@bg x=2 m eueywearer @)L LiGluwrdsulle
Curgy allengulilenme Cawwiu@n GCeuame SI @ satle

A: 64 ]

B: 60 ]

C: 120 J

D: 128 J

Topic: Physics-Section A




Item No: 35
Question
D: 100035
Question
Type: MCQ
M goBlepmu|d R &0 2, rpld Gamenr e lewro 2 (menerbd ¢m SHlewrnd Camempbd
Question Cualpbg g eueny ¢ FTLsasHer g FMESETLL 2 (HeTdlarmer. 2jene
on:
! eueladlmbg Upluddarmar. el smremil L Curg 2 (Heners @b
Carergdn@d @en Cuwrer HavgGousnisatier edlflsLd.
A: E
&
B: E
5
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5
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Topic: Physics-Section A
Item No: 36
Question
D: 100036
Question
Type: MCQ
gelbleurearmid 100 Kg BHlenm Qaram. A, B, C Il eperm @55 SHiSarsHaer,
AB=BC=13 m eranm @) m&@Gorm e Chi Carlige ameussliuhdlamer. G5 Hlanm
Question: | Cgrewr P eremenid Brensreug gisaten g Cewou@b mily elens F. AC
CrrCarliger Cem@Esg @ mawbleuliguie B ulalmbg 13 m Gsreneeiles P giser
ameussLILHEDg. F -er wdliiy GCarpmuwnns 2 GLD.
A: 21. ¢z
B: 100 G
C: 59 G
D: i o A
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Physics-Section A

Item No: 37

Question

D: 100037

Question

Type: MCQ
27°C Qeutiufleneoullgyd 2x107 N/m? (p&sSSHQIb 2 erar V Lioer Clsmemr e(mb
GO L emey 6T iF6m LI(HLOET QMHLOLBISTGD eueny GleuliLiblenay rmmoea

Question: | eflfleuenL_dlmg. e iger Lmwer WeamBL @@EHLLBSTEGD aumy Geuliu
uflrpmdleveroed ellfleusmLdmgl. surweier @mndl i(Pps5sHLD S GLD.
(y=1.5 eremi LweTU(h&5)s )

A 3.536 x10° Pa

B: 3.536 x 10° Pa

C: 1.25x10° Pa

D: 1.25x10° Pa
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Item No: 38

Question

D: 100038
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Type: MCQ
(A) Geudublene @Genpw|d CLITgl e eumyy epeodgadlen syrafl @uIss ,HMeD

GOndng.
(B) 9ipssd 2FlsflE@n Curg e eury epadaaden srmefl Quiss <pHme
<dlsfadlng.

Question: (C) ugpwer HlsilsasTed @ aumy epesaabdler symafl @Quss ,HM GoDEH DG
(D) Geutiuflene flefssre e euryeler 2 (pssL HsisdHng.
(E) Qeutiuflene dlaflgsmed eurwyedlen Lipwear @Gamndlng.
Spsar_eupmer sflurear elleLamwu Csiey Cgwls :

A: (A), (D) bL_(hib

B: (A), (B), (D) wL_(hLd

C: (B), (D) wL_(hLD




D: (A), (B), (E) wL(hLbD
Topic: Physics-Section A
Item No: 39
Question
D: 100039
Question
Type: MCQ
k [2m| k k 2k
%-‘””‘l L””%"“m‘l
(A) (®)
Question: | LILD (A) udled FHlenm 2 m” Blenm ‘m’ 2 L e QummEsLILIL (HeTang). gl k s(meromledl
Carem @rewr(h gmerelleoaGerm(h @) enamasLLIL_(HeTerer.
UL (B)-ev Blewm ‘m’ o e ‘K, ‘2 K s@merwrhledlser Clemeanr &meTedlevs(emL e
@Qeaanssliul_(hetarar. (A) -ullgd (B) -Waub Hlewm ‘m’, denLsgersdlen
v Cgrenewe|sE BaTSSLLGEDG erafe (A) wpmid (B) -@Mu ey Corbd
wpenpGw T; womib T, erafled Wemeumbd Cgrryseafley erg &l ?
Ty )
A: el R
T, 2
B: _.E._ = _Sh
Ts 2
c I . f2
Ts 3
D: _.Ti — _J_E
Ts a
Topic: Physics-Section A
Item No: 40
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Question: ®m&Cs o arer Waranipss Ceumur® wrmeiams YeTal(Hbd UL BISET) 6T
sflurass @hésng.
2
= 51
X
A: e
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Topic:

Physics-Section A

Item No: 41

Question

D: 100041

Question

Type: MCQ
@Cr Quss ynme Casrar @ran(h Wear@r L& sH&searsear QuEss dHasss,

. Qe @Essras QFuou®n @@ Frrar srHsl Haddld CFaneugn@ iandlasi-

Question: : a B § . . " . 2
u@dlearmer. eupdler eul L LTens Yy rhseaflear eldgn 6 : 5 eummlmaEiw
Hlenpaefler clldlgb 9 : 4 erafl Seupdlen Wenenr L kisatler edldlsb :

A: 345

B: 5:4

C: B

D: e

Topic: Physics-Section A

Item No: 42

Question

D: 100042

Question

Type: MCQ

Question: | LCR Glgrir Wenammlen epssdlTe| 2idlrbleueammenen idlatlliLsns

A: lareper iSlTrbleuer dlasfssiin. Geuamr(hLb.

5. s WergenL Gur® whbmmm WergamL Qeri @emenrlibe GCardsiL
Gouar(HLd.

c. (g)g,ei.) Lﬁ]ﬁ;&r@g,é,é]ul_eh wHEnmm WarGssdl Ceriir @eneamiide GarsaiiL
Couamr(HLd.

D: Wlerepen ydlirbleuenr @GenmasiuL. Geuewr(HLb.

Topic: Physics-Section A

Item No: 43

Question

D: 100043

Question MCQ

Type:




| ugsD CsraL swwreorer e Sl sgrsé sameantl, L (L >> ) u&sb Clemer
solurerear m uflu sgirs sarafilulgierCGer meudsl LREDGE. @ rearr®
samentl&@ph @Cr sersdled) enwbgleTerar. jeunler enwmseT Leret O-alle
uLgdler ariLuul (Hererg GCume gearhleambgiarerar. =ewlifer uflorbm
LOlGTHMEWTL_ GV 6T Ewr

L
Question: ;
L ! O ! L
S T A
DI T >
A: 2\/5 K0 L2
wl
2
22 @l
C: 2\/5 K0 12
L
2
D: l‘l{]L
242 ml
Topic: Physics-Section A
Item No: 44
Question
D: 100044
Question
Type: MCQ
Qaarss(H WarGssdluider sLgg WearGarmlLgdlen rms UL 6.9 pA ,@ELb.
Question: | =i 600 rad/s Carewr FrCeuar Qareur 230 V wrpdlens L emepe &g L e
Genemras LGS ng eratle WlarGCssdlulear WearGsaE dper :
A: 5 pF




B: 50 pF
C: 100 pF
D: 200 pF
Topic: Physics-Section A
Item No: 45
Question
D: 100045
Question
Type: MCQ
Question: | LYl6ITEU(THLD FnhMmIH@EHET 6T &l ?
A waearend erareflaadle o, weireri Gopu@GHude Heuliy HpFensw|bd
' Slgliu@duler eargm BHlmsmgwd srawdlpm.
5 wpaearemd eararallewadledr puieireri GoHUmsHe oagr HnEamsu|b
' Sligrin@duder Sleuliy Hngepgund srerdlmm.
c. paarend eurarelldailer egafl Brsgeafsamer il CleualGuw aumeusn@ wpeir
| Aowan ww <5 adarraiiiyég o u@dng.
D: (PSGTEnLD GuUMaTedley Flenamt euTearellevencd ST lg)ID LOBISEONE @)(HEGLD.
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Item No: 46
Question
D: 100046
Question
Type: MCQ
G Sig @D py, g peflafliese erams(@pd Claream A, B eremm @ rewr(h GleueuCaum,
oarl_smigefled gatl eweusn@ TS arar Crrrger wanGw t, t, Y GLW.
Question: | t,—t;=5x10"10s, n, WHMD pg -ar D 1: 2 erafler Qumrmellan Figoemer
UL safled sramrs. A woHmid B urmensafley gafluller HlagCeusniser wpapmGu
v, ODID vy eTand CasrHissuuL(heTeng).
A 510" o,y m
B: 5x107 10 m




C: 15%x107 19 m
D: 5x10-10 vp M
Topic: Physics-Section A
Item No: |47
Question
D: 100047
Question
Type: MCQ
e 2 Gargd 800 nm evavbarpentw gaflured gaflyd auwliLGdng. Gogib
3G @ GOl Quiss L hne CaraL eafl erevslrrersamer GleauatludBEmg.
Question: | 500 nm emaBereaLw eafl LwaLGSSLILIHL Curg eafl erevdlirensarf er
Cu@mw Quss @ nHme @@ LLmsTSDg. 2 Corssdear CeualCGunm <=,Hme
. (hc=1230 eV-nm creus)
A 1.537 eV
B: 2.46 eV
C: 0.615 eV
D: 1.23 eV
Topic: Physics-Section A
Item No: 48
Question
D: 100048
Question
Type: MCQ
_ n -augl &HNUUTMSUAL QUIBI@GLD @f credlprafler 2 HHD ereueuTn @GDlEsL
Question: ) : : : .
LGEHDg. (GMUHSsE aupdsorear CLmmenerd 6l e (HeTerer)
A: ﬂ
2mr
B: ﬁ
2r
C: E
2w




27r

D: Rt
nh
Topic: Physics-Section A
Item No: 49
QLfestion 100049
ID:
Question
Type: MCQ
Quest sHHlss Carent 2 heSTHIL 6T @ ASMEHMHMeU @(H FHMLILTSUAD &b Mleu(HLD
uestion: i .. . . = 4
@I erdLlretlen (e) &rhs SHaLLsdHmen :
.%
A: e . eL
L om
.ﬁ
B: l_; _ elL
- 2m
_._}
C: e . el
By == —
m
%
D: > 2L
By = ——
m
Topic: Physics-Section A
Item No: 50
Question
D: 100050
Question MCQ

Type:




Wlengmihler A 2jevg B ulle Wlememipssd 5V 6 2 arenGung siés wdHiy A=1
eveg B=1. Goaib A - eeg B -ule Wlamamn(pssd 0V -4, 2 eterGuTg $iés
Ly A=0 g B=0 Y @w. dar@ssuulL apdlear 6wl i L elememr

b5 QOHEGLD-
D
Question: | A m
D, A
B—FK] % R
i 5V
= V=0
A B Y
0 0 0
A T 0 0
0 1 0
T 1 F
A B Y
0 0 0
B: T 0 g
0 1 T
T 1 F
A B Y
0 0 0
C: T 0 0
0 1 0
T 1 0




o B o 3
_ =R O © o
= R S

D:

Topic: Physics-Section B

Item No: 51

Question

D: 100051

Question .

Type: Numeric Answer
e & 150 km/h Geusgdler Gaerm Csreanr(h Qmadng). ellanssd seanLamwis aThHss

Question: ey =g HousnH@ wper 27 m BaETdHng. G sri Qasrhssiu L Coussdler

estion: epaled ep(h LG Coussdler @Quinidlearme) g m Ogrenee| LiwLewilss

Hery @iialss apgl HDELD.

Topic: Physics-Section B

Item No: 52

Question

D: 100052

_?;pees:tion Numeric Answer
UL gdle smLiinl (Heterg Gumed gwblenaoudled 2 arer Lyerartl P g pren, ellengaser
Ceweuhdlearper. ellens F, &@ F, ar elldlgn 1: x. @bi@ x=

Question:

Topic: Physics-Section B

Item No: 53

Question | ;50053

ID:




Question

Numeric Answer

Type:
L ferpd r rpd 2L @@ &L AT @@ wpaaruled o mdHwurd
Gurmss iUl (herergl. sbluier wmapenar F eraid ¢h edlensuwimed @) (pdssLiLi(hid

Question: | CuTg igem Bard 5 cm 9,6 FHsMsHng. 4L Barupbd 4r Y rwbd 2oL 4GS
Gumrmerreoren HGDTM S0 4F eflensyLer @ ssliLhdng. Qbss swilludler
pargdler gpuBd <fsfliy @i

Topic: Physics-Section B

Item No: 54

Question

D: 100054

_CI_)ue§tion Numeric Answer

ype:
geaiCerarmbd GeueuCGeum Herd GaramL GMssemar, @@y < dweunmre
QelwiulL e rEGarst LlaLawul uwerl®sdl, J_%smb Gleuiuiblenaenti
Fribg Lroroe 20 cm & @QMHSGWLIN @f @G SareyGared swmilasiuL

Question: | Ceuamhd. eupdlenr HermisEpsdlent Cuw 2 arer CoumiLim® LOTHTLOE SEHLOW|LDT)
Qrew(h smmsatlen Berhser wrmdlemer. Gssameruller BHerbd 40 cm erafled @) LbiAlem
Barid cm <2},@&Lb.
(dgpoy =12X107 5K ag, o =18x1075 K1)

Topic: Physics-Section B

Item No: |55

Question

D: 100055

Que§tion Numeric Answer

Type:
@ eurert 18 km/h Ceaussddle @m Geaan Crrédl em mesdlaila Clsem
Casramgmsdnri. JeumsGl Gearlpsdle &ihlg Garenweie o drer epadl
epsHOlmbg Chrigurs i @dlmwus Caldprr. 2Cs Cure @erdlel(mbg

Question: | erdlGlpmallssiinL gedlepwib GCaldlpmir. ¢edl epagsme Geuetlud i L eadudler
CaTL585 glibleuar 640 Hz eramad srmmler gedludlen SlensGousid 320 m/s erafle
g uwieurerpred Calsuul L @rea® eellsenddlenL_Gw 2 eTer 67D 2ilibleuemr

Hz 9,86 QH&GELD.
Topic: Physics-Section B

Item No:

56




Question
D: 100056
_I(?;pees:tion Numeric Answer
6 m el e Carergdlen L Wegyr L L igd 2 pC/em3. Carergdler
_ @ro@ Unuurndalmbg GeuelCw eumb allenssds Comhsatlen oremr amtldbens
Question: 10 1
X 10 NC~-.
(Qasmers : CeupbgHer @engeno €g=885x10"12 C2 N~1-m™?)
Topic: Physics-Section B
Item No: 57
Question ID: | 100057
_(I_)ues.tion Numeric Answer
ype:
Carhssiul_(Heter UL SdHle V, a1 WSl V 3,86 @QIH&GLD.
2V 1k
I AAAAA
Y 1k
Question: I ANAN—
6V 1k
I AAAAA .
VD
Topic: Physics-Section B
Item No: 58
Question
D: 100058
Ques.tion Numeric Answer
Type:
R lengenL QEranr_ e Fnl (W SLSSH LTS o Heurd@Geusn@, | Herapd d e L_@pid
Quest QararL T (B Srdlrsd sbdser Lss @Qamenliibe CargsliLpdearpar. 21 Berd
uestion:
QareanrL ¢ Hafd srlys &b ACs WleargenL e & Temrg(ha@LL erafler g6
il b d 9.
Topic: Physics-Section B
Item No: 59




Question
ID:

100059

Question ,

Type: Numeric Answer
sargm (Henew Bard =4000 A) LED oW 2 (Faum&@eusn@ Gon sLsS Qummeler

Question: | <pmmed LIL el @enLCleuatl _ eV.
(Ble Cpmrdu eramams@ wppenwll LHsEIs)

Topic: Physics-Section B

Item No: 60

Question

D: 100060

Question ,

Type: Numeric Answer
6.03 L&D &S WHTenssTLfawll UTTUUSDE ggleurs Cgrensasr &
GCaryrsdlen Coeneuwimer e wiFd h y@Lb.

Question:
gyrafl wéser Qrens LTEH 100/km? eramald Lefluder <,y 6400 km 6ramabd
T(H&g& CsmenTLméd h ar iy WL fe 2 (GLD.

Topic: Chemistry-Section A

Item No: 61

Question

D: 100061

Question

Type: MCQ
SO,Cl, @flasliugurar BmLer elamau@n Curg Spsar. yWos soamal
FlenL_&8lmg).

Question: | SO2Clo+2H,0 — H,SO, +2HCI
Geuailenamuiler 2 (peuren ilevmigener (penwirs BHHleneluhss 16 Gumager
NaOH Cgenauliu(hdlpg erafler @euellenamuier LweruBFsriLl L SO,CL, -eller
Curasaflen crameanflGans :

A: 16

B: 8

C: 4

D: 2

Topic:

Chemistry-Section A




Item No: 62
Question ID: | 100062
Question Type: | MCQ
Question: ST GeUmTanTL LD eTamgafled 6T FrdSlwiomensg e ?
A: 1
' n=3,1=2 m1=[],s=+5
B: 1
' n=31=2, m=-2,s=+ )
C: 1
: n=3,1=3, m= -3, s= )
D: 1
: n=3,1=0, m=0, s= 3
Topic: Chemistry-Section A
Item No: 63
Question
D: 100063
Question
Type: MCQ
0.5 mL L~! Qadley Caram unmisls olled senreadler 2 ephlencs smpey 0.0405°C
< sa|bd urislé leosder oLisd 1.05 g mL~! erameyb Qm&@L Curg 2ibs
Question: & s : ; 5 : .
uridles 2jbleod senFaadler eumer anmll &ryewnfl Wl
(sTews : k=186 k kg mol 1)
A: 0.8
B: 1.1
C: 1.9
D: 2.4
Topic: Chemistry-Section A
Item No: 64
Question
D: 100064
Question
Type: MCQ




Question:

20 mL 0.1 M NH,OH, 40 mL 0.05 M HCl 2L er GerssluBhdng erefle
SFHv@maludler pH.

[Qsrhssiul L g
K, (NH,OH)=1x10"5, log 2 = 0.30, log 3 = 0.48, log 5 = 0.69, log 7 = 0.84, log 11 = 1.04]
A B2
B: 4.2
C: 5.2
D: 3.2
Topic: Chemistry-Section A
Item No: 65
Questi
Do 1100065
Questi
Q ;pees: ion | vica
Qar@Ly - I -5 Qan@Lliy - IT -2 L6 CummEss.
GlEn@ELLY -1 Glgn@Eiy - II
(A)  Ny(g) +3H,(g) — 2NHs(g) @) Cu
question: | (B COEI+3HL(g) - CH(g) +H,0(g) () Cu/ZnO—=Cr,O4
| (©) CO(g)+H,(g) - HCHO(g) () Fe,O,+K,0+ALO,
(D) CO(g) +2H,(g) — CH,OH(g) IV) Ni
ECp Qasr@ssuul(erer aurilysaile @mbgs Wsejb sflurar arend
CsH0ls (H&se] L.
A: (A) - (1), (B) - (IV), (©) - (I), (D) - (II)
B: (A) - (), (B) - (I), (C) - (IV), (D) - (1)
C: (A) - (D), (B) - @AV), (©) - (), (D) - (1)
D: (A) - (L), (B) - (1), (©) - (IV), (D) - (1)
Topic: Chemistry-Section A
Item No: 66
Questi
Do 100066
Question MCQ

Type:




Qeuafliym gl (i erevdLyme jentoliL] [Rn] 5146d17s? ererm o e gerflngdler IUPAC

Question:
Quwr ;
A: Unnilbium
B: Unnilunium
C: Unnilquadium
D: Unniltrium
Topic: Chemistry-Section A
Item No: 67
Question
D: 100067
Question
Type: MCQ
griur AfAsCAghssler Curg ssLrg BasliLhn GCaTod /&6 :
(A) CaO
(B) FeO
Question: (C) Al,O,
(D) ZnO
(E) NiO
ECp sruul L eumdlysetle @mba sflwurer eflenLeamwg Coirb6lsHEsea .
A: (C), (D) wL_(hib
B: (A), (B), (E) LDI'_CI-)Lb
C: (A), (B) bL(Hd
D: (B) wL_(hd
Topic: Chemistry-Section A
Item No: 68
Question
D: 100068
Question
Type: MCQ
Quest Ilev sarsgSle0 H,O,, Cumrflwib CurwrbisGar o L ar eflenaru®ib GCumg
uestion:

(_I:D‘@')G:b'[GZDLDU_II'I'SS 2 (ThedTeUd,)| eTg) 4




A an +
B: Mn4 +
C: Mn3 +
Topic: Chemistry-Section A
Item No: 69
Question ID: | 100069
Question
Type: MCQ
Question: | &1y 2 GCamsmigatiear oLigduilen sflwren auflengeni seaor(hdlig&se]b.
A: Li<K<Na<Rb<Cs
B: Li<Na<K<Rb<Cs
C: Cs<Rb< K< Nac<Li
D: Li<Na<K<Cs<Rb
Topic: Chemistry-Section A
Item No: 70
Question
D: 100070
Question
Type: MCQ
EpsarL aflenaruier 2 meur@b aflenerCummer ‘B -ulles Cumyrenar &mmlwjerer
GUIG@ILD :
Question: 150 K
BF; + NaH ———— A + NaF
A + NMez > B
A: FLOGET (Lp&(GaTemnTLd
B: BremLpdl
c: Ard®H
D: FGII SHEMLD




Topic: Chemistry-Section A
Item No: 71
Question
D: 100071
Question
Type: MCQ
Quest HGrrllewr, Wlenswerey Lenflay e ellemaruBin GCurg S s Gamemer
uestion:
@enL_FEFTob :
A: enan1CuTrGanene L
B: CanGev L
C: ClumGanGevl
D: Camener
Topic: Chemistry-Section A
Item No: 72
Question ID: 100072

Question Type: | MCQ

Question: aflCaudll uafllilyamsuie s aTg Q\(HEETEH ?
A: NO

B: N02

C: 503

D: HCHO

Topic: Chemistry-Section A

Item No: 73

Question | 100073

_?;pees:tion MCQ




Garold ‘A7, X - opmid ‘Y 2 L e elenarul_(h G (waereno ellenerblLimmLsemeri b
‘a’ wLOHMW ‘D ererm wIMULL 2L 6T ellemerCur@Lsamerwd SmHEmg. ‘a’
< GalnCGarmmd mLbg ermbyser 2 Husd GFuwd e Coudlubummeners
SmEDE ereted X wOHmID Y eremuer WpenpGu

. o G
Question: X a+0=C—CH,—C—CHs
CHj; CHj |
[ | CHj;
H2C=C_CH2_C_CH3
| CHj CHj
i | Y, p+0=C-CH,~C-CH
Compound “A’ e i
CHj;
A KMnO,/H* wpmib bigs KMnO,, 273 K
B: Bir&s KMnO, 273 K wpmid KMnO,/H*
c: KMnO,/H* wpgitb O,, H,0/Zn
D: 0,, H,0/Zn whmb KMnO,/H*
Topic: Chemistry-Section A
Item No: 74
Question
D: 100074
Question
Type: MCQ
SpsarL cllaenuild 2 (heum@d Wsea|b Hleeliysseaemn eumipbs elenerolLimmar:
OH
Question: (i) HyC 4©— 50,Cl, 19fig éir
(ii) NaCN, DMF
CN




CN
B: \/k

CN
C:

CN
D: /\/
Topic: Chemistry-Section A
Item No: 75
Question
D: 100075
Question
Type: MCQ
Quest Spsan allenansafley erhs qardléd @Ol Ll Herar ellener [HlLibsenargafle
ion:
esto cllenaru(Relum@mer allenerlum(menms WrHHMLITE ?
@) @)
A Cl H, H
).

Pd.BaSO,




CN
B:
(i) DIBAL-H H
(ii) HyO
O
CO,CyH5
C: . .
(i) AlH(iso Bu), H
>
(i) H,O
O
D:
OH (i) NayCr,0; H
(ii) H,S0, H,0
Topic: Chemistry-Section A
Item No: 76
Question
D 100076
Question
Type: MCQ
e &g Gamwb ‘A" -eneu NH; 2 Lan eflenari(hddl GlarLibg @&bHubhds Gerwob
B dlenLadlmgl. @sener Goaib o wir euliuflanasa@ @Ghubss Carwn C (CgHNO,)
Question: | SlenL&dlmgl. Geirow C 2 Ler erggeanme sbe KOH, e @Garreny(, wHmiLD
&y prrou@libener Qarréflurs Blapsgin Curg eflaarmu ojwbear HaLsHng
erefled Gampid A eremuig) :
CHO
A:
CHO
CHE
B:

COOH




COOH
C:
COOH
CHO
D:
OH
Topic: Chemistry-Section A
Item No: 77
Question ID: 100077
Question
Type: MCQ
Question: | &L ThS GHMISS 6llemaruliler sryenors Weodler LUy el &@Hn ?

H-N NH
NY

N NTN + HCHO
NH,
H,N NH
% W z
o NTN + HCHO
NH,
H,N NH,

+ HCHO




7 NH,
N N + HCHO
NH,
Topic: Chemistry-Section A
Item No: 78
Question
D: 100078
Question
Type: MCQ
Quest Hrgrismer @uoldpsse Celiwb Gurg ser aThHS emlibe wrhmib
uestion:

g MLILTG)?
A: (WPsblene BjenLpLiL|
B: @rewTLTD [Blened enLpLiL]
C: ePETTLD Hlene BenLDLIL]
D: BTEISTLD [Hleney jemLoLiLy
Topic: Chemistry-Section A
Item No: 79
Question
D: 100079
Question
Type: MCQ

@mBGIL QurmLser urgeurs 2 ammGauplisetier (feuLmrile) Yenenthg =isem
Question: | @uiouirer Fwene sH&EDGE. Coa@ib ssaud uflbrHndams ShHaSng. eunbler

Cuwr :
A: (PSeTenLd QUIGSlHeT
B: erdl rallener, &8l 6r
C: Ypenow &HLILIT6ETSET




D: el ablev L Lilaflev(haer
Topic: Chemistry-Section A
Item No: 80
Question
D: 100080
Question
Type: MCQ
ECp @ram(® sFmhmser sriul (HeTere.
gpml I: Sefleggrer, KHSO, 2 Lan @&OuUBSsLUBDLGUrg BrBsswenL b
2&Crrellenand &maImg).
Question: gapm II : 5Cyredler, Lip wewrd Glarem. g G @8 Sleflerrena saormlub
Cargenaruier LwerLBssLLIBHSE DG
sflwrer ellenLenwg CsiholsH&se, L.
A: gapml [ LEMID Fpm I GrearHn il
B: gapm| I wHmd spmi II @rear(Hn seum.
C: gamm) I #fl @ armé sgmmm) 11 Heum).
D: gapm| I seum ,ammed sapm) I &ifl.
Topic: Chemistry-Section B
Item No: 81
Question
D: 100081
?ues.tion Numeric Answer
ype:
_ N,, N,*, N,7, N,27, O,, 0,%, 0,7, 0,27 g fluaupmeé e wrsrbsd Hemenlo
Question: . S s p .
QaraTL_cummlen ererenilEean s
Topic: Chemistry-Section B
Item No: 82
Question
D: 100082
Question

Type:

Numeric Answer




Question:

298 K -aflev yruGuer, dyrenul, wpmb epLevanl roer 2, dweinbler oriflge
erengmedldl wpenmGus —2220.0 k] mol ~1, —393.5 k] mol ! opmyid —285.8 k] mol ! eravfled

HelrmiGuefler (CyHg) 2 (maumrge GleuliLib k] mol—1.
(eflenL : =yl 2 6mar (L ereuTemflen)

Topic: Chemistry-Section B

Item No: 83

Ql{estion 100083

ID:

.IQ.ueS_tion Numeric Answer

ype:
27°C-ed FFLILISLD CEmeanT_ eumru|ellen 2i(p&Sid 4 atm. 215 2 6TeT ClETeTHLSIH 6 SHer
erenel G Ceuliufleneuier QL EsTES@TTD 2bS FrULSD Clemar

Question: ; @ 1 ) 3 . ; 3
cUTWedl6r <24(LpSSLD x10~1 atm. (eSlewL : ym&led 2 @Ter (P eremTamiicy)
(Qar@Hdsiiu’Lg : 27°C -ulé Bflear o6l 2ipdsbd 0.4 atm.)

Topic: Chemistry-Section B

Item No: 84

Qlfestion 100084

ID:

?ues.tion Numeric Answer

ype:
298 K-eé0 Zn|Zn2*(aq)||Sn**| Sn
erem LWlensesdlen Wlemse Wlemarpssd 0.801 V. GopsearL ellenaruliler, allener rrey
1072 erafled, @Qbs Wearse Coudlefanaruiler FHLIMD erevdlrrensaflen eremrantldseand

Question: | —————

= - _ 5 _ . .

(Qar@ sl Lg i 0763V » ESrlthISn +0.008V  wOHMID
2.303RT _ 0.06 V)

Topic: Chemistry-Section B

Item No: 85

Ql.festion 100085

ID:

Question

Type:

Numeric Answer




500 torr ererm LU PSSSH0 2 eter A erarm eurwhlenewd Camwbd
A SlevgeuanL b elenemuiler enFyuieT sreld 240 s. (PSS 250 torr 2,5

Question: | @QM&EGHLCUTE ey B ujer sred 4.0 HOlLkiger 2,6 ADWLLBHSDG erefld
denerullen euens :
(eflenL : ym&lev 2 6Tem (PP eTemTemiled)

Topic: Chemistry-Section B

Item No: 86

Question

D: 100086

_CI_)ue§tion Numeric Answer

ype:

s e d Gamomisemer sHaHa Clsmers.
[Co(NH,)gJ>*
[CoCI(NHa)s]>*
[Co(CN)4J~

Question:
[Co(NHa)5(HO)P*
@eumled Ganbs Amaberd CsramL gaflew o MEpsHbd amamed Carnddem
sn&EpHE L HCWL STrawors Wb sTHS SHmLUL Sner B.M.
(eflenL : Bym&led 2 6Tem (p(Lp eTEvTEmTlen)

Topic: Chemistry-Section B

Item No: 87

Question

D: 100087

_?;pees:tion Numeric Answer
Co®t, Ti2+, V2 wpmid Cr2* g dlu swalsealld arhg earenn allenar syanfluirs

Question: vwerL(hsgIb Curg =ig) brés <illeassa @Qmba amanl roamen GeuafllCunorGsm

Heston: e SHEHPMSE L (HGD STTERTONS N &b SH(HLL SHmeo B.M.

(eflenL : Bymdled 2 6mar (p(Lp eTevTamiled)

Topic: Chemistry-Section B

Item No: 88

Question

D: 100088

Question

Type:

Numeric Answer




GaeLme wepuiledr e &l Garogdle 2 erer enbLFmener eThsOILD GuTg)
0.25 g Gerwd Qeaelellhid yCwraflur 25 mL 2 M H,S0, <&@

Question:
phileowurssiiu@dng caalld <ips Carwsde 2 drar enplrmafler geaisb
Topic: Chemistry-Section B
Item No: 89
QL{estion 100089
ID:
?ues.tion Numeric Answer
ype:
. - _ . - 3 - . - - - -
Question: Q_IG?)GITU_I- @wliunpm C,HN -6 2.6rer sp® @QardsoLlUmLbg & TirL6ser e
GT GUOT Ut & 6
Topic: Chemistry-Section B
Item No: 90
Qgestion 100090
ID:
Ques.tion Numeric Answer
Type:
Epsa eflenamier o Heur@ eflenerClLmmer A -6fld) o érer FFFTHDH (n&HTED)
srirUengetlen 6rarentldsens
H,;C
N9
Question: C-OEt OEt_ ‘A’
——
(p&dlw elenerGlummer)
CH,—-C—-CHj
Il
O

(@@ Et eremuig —C,He)




